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 . 
Roll No.  

 
 

 
   

DERIVATIVE MARKET OPERATIONS 
 

   :  3     : 60 

Time allowed : 3 hours   Maximum Marks : 60 

 

  :  

 (1) 1       20    
 (2) 2       20-30      

 Series : SGN/C  318

SET – 4 

H$moS> Z§. 
Code No.  

   -  - 
    
Candidates must write the Code on 
the title page of the answer-book. 

       -    8   

 -            -  -    

       -  37    

         ,       

  -     15        -     10.15  
   10.15   10.30     -         
-       

 Please check that this question paper contains 8 printed pages. 
 Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 

 Please check that this question paper contains 37 questions. 

 Please write down the Serial Number of the question before attempting it. 
 15 minute time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 



318 2 C/1 

 (3) 3       30-40     
 (4) 5       100    

General Instructions :  
 (1) Answer 1 mark questions in about 20 words each.  
 (2) Answer 2 marks questions in about 20-30 words each. 

 (3) Answer 3 marks questions in about 30-40 words each. 

 (4) Answer 5 marks questions in about 100 words each. 

 
 

 –  
SECTION – A 

 

     7        1     
Attempt any 7 questions from this section. Each question is of 1 mark. 
 

1.             ? 

 Which option can be exercised at the expiry of the contract ? 

 

2.  ‘’  ‘ ’       ?       

   

 Can ‘SWAP’ be treated as portfolio of ‘Forward contract’ ? Give reason in support of 

your answer.  

 

3.           ? 

 Why does an OTC contract have counterparty risk ? 

 

4.                   

 Name the ‘Derivative’ products that have limited losses and unlimited profits for 

buyer. 
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5.  ()  ()     ? 

 How is ‘Beta Hedge’ effective ? 

 

6. ‘ ’     ? 

 What is meant by ‘Unsystematic Risk’ ? 

 

7. ‘ ’      

 Define ‘Ordinary Dividend’. 

 

8.        ‘  ’    ?  

 How is the ‘New Market Lot’ arrived at after the adjustment of Corporate Actions ?  

 

9.                ? 

 What is the client level position limit across all the derivative contracts on an 

underlying ?   

 

10. ‘ ’       ? 

 Who can be appointed as Authorized Users ?  

 

 –  

SECTION – B 
 

     10        2     

Attempt any 10 questions from this section. Each question is of 2 marks. 

 

11.             

 Give the meaning of the two commonly used SWAPs. 
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12.            

 State any two features of forward contracts.  

 

13.           ` 1,00,000      1.25    

                

 Your holding in cash market in ABC Ltd. is ` 1,00,000 and beta is 1.25. Calculate the 

hedging amount to hedge the complete positions through beta.  

 

14. ‘-   -’     ? 

 What is meant by ‘reverse-cash and carry arbitrage’ ? 

 

15.                

 Diagrammatically describe the pay-off profile for writer of put option.  

 

16.    ‘’          

 Describe briefly the role of ‘Admin’ in corporate hierarchy. 

 

17. ‘    ’   ?      

 How is ‘Future Market Zero Sum Game ? Explain briefly.  

 

18.                

 3-1-3    

 Calculate the options available in three serial months contracts where the schemes of 

strikes are 3-1-3.  
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19.                   

    

    700  ` 400          1400  ` 410  

         

    1000  ` 390            

    1500  ` 395           

     ` 408     

 From the following details of a trading member’s proprietary and client position, 

calculate his MTM profit. 

 Proprietary : He buys 700 units @ ` 400 and sells 1400 units @ ` 410 

 Client A : buys 1000 units @ ` 390 

 Client B : buys 1500 units @ ` 395 

 The settlement price of the day is ` 408 

 

20.         ( )       ? 

 How is the Open Position of Trading Member in Clearing Mechanism determined ?  

 

21.             ? 

 What is the Trading Member Position Limit in Equity Index Option contract ?  

 

22.                  

 Briefly explain the accounting of a future deal in case of default.  
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 –  

SECTION – C 

     6        3     

Attempt any 6 questions from this section. Each question is of 3 marks. 

 

23.     -         

 Explain briefly ‘Pricing Equity Index Futures’. 

 

24.              ? 

 How are future contracts of derivatives are less risky than forward ?  

 

25.             

 Describe briefly the Intrinsic value of an option. 

 

26.                

 Distinguish between buy calls and sell puts in case of bullish position.  

 

27.            

 Explain briefly the contract specifications of Index Option. 

 

28.    ‘  ’           

 Describe briefly the eligibility criteria of ‘Stock to trade’ in derivative market. 
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29.          ?           

 Is stop loss applicable in Derivatives Trading ? Give an example in support of your 

answer.  

 

30.              

 Explain briefly MTM settlement of Derivative Transactions.   

 

31.              

 Describe briefly the procedure of option settlement at the expiry of the contract.  

 

32.              

 Explain briefly the taxation of profit on derivative transaction in securities.  

 

 –  

SECTION – D 

     3        5     

Attempt 3 questions from this section. Each question is of 5 marks. 

 

33. ‘    ’         

 Briefly explain the attributes of ‘The CNX Nifty contract’. 
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34.  -               

     -  -         

 With the help of equations describe the Black-Scholes formula for pricing of European 

call and put with strikes pricing X on a Non-Dividend paying stock.  

 

35.                

 Explain briefly the dimension of each ‘Greek’ letter to the risk in an option position.  

 

36.               ?      

 How does SPAN calculate the risk on the portfolio or securities ? Explain briefly. 

 

37.                 

 Explain the ‘clearing mechanism’ from client level position to clearing member 

position.  

_________  

 
 
 
 
 


